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Chapter 2: Reasoning & Proof 

Based on the information given, name the congruent segments or angles using proper geometric/ 
symbolic notation. 

1. O is the midpt of 𝐶𝐷 2. 𝑆𝑊 bisects 𝑋𝑉 3. 𝑅𝑂⃗⃗⃗⃗  ⃗ bisects NRP 4. 𝑋𝑇⃗⃗⃗⃗  ⃗ & 𝑋𝑉⃗⃗⃗⃗  ⃗ trisect SXW 

  
 

 
 

In each of the following, name the angles that can be proven to be right angles. 

5. Given: 𝐽𝑀 ⊥ 𝐽𝐾 6. Given: 𝑅𝑂⃗⃗⃗⃗  ⃗ ⊥ 𝑃𝑁⃗⃗⃗⃗⃗⃗  7. Given: 𝑂𝑇 ⊥ 𝑆𝑊 

   
 

8. Use the Segment Addition Postulate to set up and solve 
an equation to find the value of x. Is T the midpoint of 

𝑆𝑉? Explain your reasoning using the definition of 
midpoint. 

 

 

 

 

9. Given: mGHI = 9x + 11, mGHL = 55, and mLHI = 6x – 8. Use the Angle 
Addition Postulate to set up and solve an equation to find the value of x.  

Does 𝐻𝐿⃗⃗⃗⃗  ⃗ bisect GHI? Explain your reasoning using the definition of bisects. 

 

 

 

 

10. Given: W ≅ STV and 𝑇𝑉⃗⃗⃗⃗  ⃗ bisects STW 

a. What can you conclude from the given information? 

 

 

b. If mW = 2x – 5 and mVTW = x + 15, find mSTW. 
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11. Given: 𝐴𝐵⃡⃗⃗⃗  ⃗ ⊥ 𝐵𝐶⃡⃗⃗⃗  ⃗ and angles 1, 2, and 3 are in the ratio 1:2:3. Find the measure 
of each angle. 

 
 

 

12. Use the Segment Addition Postulate to set up and solve a quadratic 
equation to find the value of x (that makes sense). Is Q the midpoint of 

𝑃𝑅? Explain your reasoning using the definition of midpoint. 
 
 
 
 
 
 
 
 

Two-Column Proof Problems: 
13. Given: a  b 

Prove: 1 ≅ 2 
 

 
 Statements Reasons 

   

14. Given: O is the midpoint of 𝑁𝑃 

𝑅𝑁 ≅ 𝑃𝑂 

Prove: 𝑅𝑁 ≅ 𝑁𝑂 
 

 
 Statements Reasons 
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15. Given: 1 ≅ 4 

Prove: 2 ≅ 3 
 

 
 Statements Reasons 

   

16. Given: mACB = 90 

𝐴𝐷  𝐵𝐷 

Prove: ACB ≅ D 
 

 
 Statements Reasons 
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17. Given: 𝐺𝐷⃡⃗⃗⃗  ⃗ bisects CBE 

Prove: 1 ≅ 2 
 

 
 Statements Reasons 

   

18. Given: V ≅ YRX 

Y ≅ TRV 

Prove: V ≅ Y 
 

 
 Statements Reasons 

   

 


